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I.  Fill in the blanks 

 
1) 1Crore = _____________ Lakhs  
2) The next multiple of 6 after 30 is _____________ 
3) Write all factors of 24 _____________ 
4) Mention the Divisibility rule of 9 _____________ 
5) ____ should be added to the dividend so that there is no 
reminder in 1123 ÷ 5 

6) 2360 ÷ 10 = _____________ 
7) HCF of 2,3 is _____________ 
8) Round off 5342 to nearest 100 _________ 
9) If 1948 x 6 is 11688 then what is 1948 x 60 ___________ 

 
II. Choose the correct answer: 

 

10) Which number is a multiple of 6? 
a. 45 
b. 24 
c. 32 

11) 144 is divisible by 
a. 2 
b. 3 
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c. 2,3 and 6 
12) If a number is divisible by 10, then it is divisible by 

a. 2 
b. 5 
c. 2 and 5 

13) LCM of 4,12 is….. 
a. 4 
b. 12 
c. 48 

 

 

III. Do as directed: 

 
14) Write the number in Indian and International standard 
format 
a. 600000+2000+700+30+1 
b. 100000+9000+100+70+70 

15) Which of the following number is divisible by 2,3 and 
6. 
a. 23 
b. 26 
c. 46 
d. 92 

16) Which of the following numbers are divisible by 5,10 
a. 14 
b. 25 
c. 60 
d. 75 

17) State the divisibility rule of 2,3 and 6. Give example.  
18) Find 3 common multiples of 3 and 4. 
19) Find LCM and HCF 
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a. 12 and 16 
b. 15 and 20 

20) Solve the problem using box model. 
a. 2693 x 6  

21) Solve using column method. 
a. 4849 x 45 
b. 8746 x 73 
c. 5647 x 68 
d. 9500 x 56 

22) Long division  
a. 6280 ÷ 20 
b. 1823 ÷ 17 
c. 15015 ÷ 15 
d. 50000 ÷50 

23) If I divide 3036 by 5, will there be a reminder? How 
do u know? 

24) Form a 4 digit and 3 digit number using 0 to 9 so 
that they form smallest product possible.  

25) Solve the following story problems (Understand, Plan, 
Solve and look back) 
a. Anna has 15 red balls, 3 times of red balls is equal 
to number of blue balls and 3 more green balls than 
the red balls. How many balls does Anna have?  

b. Rama has a function at home. She bought 45kg 
potatoes at the cost of Rs. 28 per kg and 32kg of 
tomatoes at the cost of Rs.36 per kg. How much did 
she spent in all? 

c. In a class of 16 students, 3 students choose Tamil as 
third language, half of the class as Malayalam and 
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balance students choose Urdu. What is the total number 
of students choose Urdu. 

 
************* 

 


